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FUNDAMENTAL CONSTANTS

€ =8.85 x 10712C?/Nm? (permittivity of free space)
po=4m x 1077 N/A? (permeability of free space)
¢ =3.00x 10°m/s (speed of light)

e =160x10YC (charge of the electron)

m =911 x 103 kg (mass of the electron)

SPHERICAL AND CYLINDRICAL COORDINATES
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ﬁE *da= g_ Oenet Gauss” Law (integral), and VeE= 8_:0 Gauss’ Law (differential)
0 0

$E*dl=0 and VxE =0 (statics)
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TABLE 3.1 Legendre Polynomials
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dip

N=px E F= (f’ * V)E U=-p* E torque, force, energy of dipole in E field

o, = Pen P, = ~V*P bound surface and volume charge



Name Student ID Score
last first
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P R
V(r,0)= ——2C089 forr>R, V(r,0)= 3ircosl9 for r<R potential of uniformly-
E T &

polarized sphere of radius R
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